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1 Question Description According to the Constitution of India Article 3 authorizes the Parliament to reorganize the states . With this authority,
the Parliament can
i) alter the name of the state
ii) diminish the area of any state
iii) alter the boundaries of any state
iv) increase the area of any state

A i,iii, and iv

B i and iii

C ii, iii and iv

D All of these

E None of the above

Correct Answer D

Marks 1



2 Question Description T instigates C, a child under seven years of age to do an act which can cause X’s death. In consequence of this C cause
X’s death in absence of T.
With reference to the above statement
Assertion (A): T is liable for murder of X, even though the actual act has been committed by an infant.
Reason (R): The liability of the abettor depends upon the capability and knowledge or intention of the person abetted.
Of the above statements.

A Both A and R are true and R is the correct explanation of A

B Both A and R are true and R is NOT a correct explanation of A

C A is true but R is false

D A is false but R is true

E None of the above

Correct Answer C

Marks 1



3 Question Description A suit is bad for non-joinder of necessary party , as provided

A Under Order 1 Rule 10 of CPC

B Under Order 1 Rule 9 of CPC

C Under Order 1 Rule 10 A of CPC

D Under Order 1 Rule 11 of CPC

E None of the above

Correct Answer B

Marks 1



4 Question Description Suit shall not be maintainable ----

A If same is filed within local limits of whose jurisdiction the property is situated.

B If same is not filed in the Court of lowest grade competent to try it.

C If same is filed for compensation for wrong to immovable property

D If same is filed for partition of immovable property

E None of the above

Correct Answer B

Marks 1



5 Question Description F.I.R suggests that

A It is the earliest and the first information of a cognizable offence recorded by an officer in charge of police station

B It is the earliest and the first information of a non- cognizable offence or cognizable offence recorded by an officer in
charge of police station

C It is the earliest and the first information of a non-cognizable offence recorded by an officer in charge of police station

D It is the earliest and the first information of a compoundable offence recorded by an officer in charge of police station

E None of the above

Correct Answer A

Marks 1



6 Question Description Give correct response.
Common intention within the meaning of section 34 of the Penal Code means:

A It implies a pre-arranged plan, prior meeting of minds, prior consultation in between all the persons constituting the
group.

B Evil intention of many persons to commit the same act.

C A desire of many persons to commit a criminal act without any contemplation of the consequences.

D The mens rea necessary to constitute the offence that has been committed by several persons.

E None of the above

Correct Answer A

Marks 1



7 Question Description In criminal trials, the onus is on the accused to prove that his case falls in

A any of the general exception

B any of the special exception

C any of the proviso to any provision

D all the above.

E None of the above

Correct Answer D

Marks 1

8 Question Description Among the following which are suits of civil nature

A Suit relating to right to worship

B Suit relating to right to shares in offernings

C Suits for upholding mere dignity or honour

D Both (a) and (b) above

E None of the above

Correct Answer D

Marks 1



9 Question Description Which of the following is true of Sec.47, Indian Evidence Act, when the court has to form an opinion as to the
handwriting of a person?

A The opinion of a person acquainted with the handwriting of such person is admissible

B Before the admission of evidence, one has to prove that the witness is acquainted with the handwriting of such person
which is in question

C The opinion of the persons acquainted with the handwriting and signatures of the testator is admissible while the Court
is to form an opinion in respect of his signature on the will

D All of them

E None of the above

Correct Answer D

Marks 1



10 Question Description Which of the following statements regarding the Supreme Court of India are correct?
i) It acts as guardian of the Constitution
ii) It acts as the guardian of the liberties of the people of India
iii) It acts as the protector of the Directive Principles of State Policy
iv) It has the final power to investigate disputes regarding election of the President and the Vice President of India
Select the correct answer using the codes given below

A i, ii and iv

B i, ii and iii

C ii and iv

D all of these

E None of the above

Correct Answer A

Marks 1



11 Question Description The authority to specify as which castes shall be deemed to be Scheduled Castes , rests with the following

A Commission for Scheduled Castes and Tribes

B Prime Minister

C Governor of the State

D President

E None of the above

Correct Answer D

Marks 1

12 Question Description Decree includes

A The rejection of a plaint

B Any adjudication from which an appeal lies as an appeal from an order

C Any order of dismissal for default

D All of the above

E None of the above

Correct Answer A

Marks 1



13 Question Description Burden of proving that person is alive who has not been heard for seven years is on whom a

A one who denies it

B one who affirms it

C Any third person

D All of the above

E None of the above

Correct Answer B

Marks 1

14 Question Description Which of the following Amendment Acts amended the Preamble of the Indian Constitution ?

A 44  Amendment

B 42  Amendment

C 45  Amendment

D It has never been amended

E None of the above

Correct Answer B

Marks 1

th

nd

th



15 Question Description A decree is preliminary

A When it is issued in the preliminary stage of the suit

B When further proceedings have to be taken or the suit to be completely disposed of

C When it deals with some preliminary issues

D All of the above

E None of the above

Correct Answer B

Marks 1

16 Question Description A dying declaration

A Can form the sole basis of conviction without any corroboration by independent evidence

B Can form the basis of conviction only on corroboration by independent witness

C Cannot form the sole basis of conviction unless corroborated by independent witness

D Only (b) & (c) are correct.

E None of the above

Correct Answer A

Marks 1



17 Question Description Which one order of followings deal with power to order separate trials where joinder of defendants embarrass or delay
trial -----

A Order I Rule 3 A of CPC

B Order I Rule 3 of CPC

C Order II Rule 1 of CPC

D Order II Rule 2 of CPC

E None of the above

Correct Answer A

Marks 1

18 Question Description The Constitution of India has introduced single citizenship on the patterns of

A Britain

B Canada

C USA

D both a and b

E None of the above

Correct Answer D

Marks 1



19 Question Description Mr.Anand a rich person residing at Vasco, sends Rs. 50,000/- to his agent at Ponda with a direction that the money be
given equal to two poor students A and B who are studying in the Engineering College over there. Instead of doing so,
the agent gives the money equally to two other very poor deserving students. The agent has committed:

A Criminal breach of trust.

B No offence

C Cheating

D Criminal misappropriation of property.

E None of the above

Correct Answer A

Marks 1



20 Question Description Can anticipatory bail be granted in respect of bailable offences, and if so in what circumstance?

A Anticipatory bail cannot be granted in bailable offences

B Bail can be granted only in case the petitioner is a women, a minor or a sick person

C There is no distinction between bailable and non bailable offences so far as anticipatory bail is concerned

D all of the above

E None of the above

Correct Answer A

Marks 1

21 Question Description In the trail of summons case by a Magistrate

A Charges must be framed

B Charges need not be framed

C Charges can be framed provided accused does not object

D Only substance of the accusation is to be stated

E None of the above

Correct Answer D

Marks 1



22 Question Description The deciding factor under section 112 of Evidence Act is

A The date of birth of the child

B The date of conception of the child

C The date of birth or the date of conception depending on the facts & circumstances

D All of the above

E None of the above

Correct Answer A

Marks 1

23 Question Description Which is punishable as sedition?

A Bitter criticism of the government to overthrow it

B Inducing people to cease to obey law and lawful authority

C A publicist attack on policies of the government

D all of the above

E None of the above

Correct Answer B

Marks 1



24 Question Description Which of the following is not a part of Section 73 IPC?

A A time of solitary confinement not exceeding one month if the term of imprisonment shall not exceed six months

B A time of solitary confinement not exceeding two months if the term of imprisonment shall exceed six months and
shall not exceed one year

C A time of solitary confinement not exceeding three months if the term of imprisonment shall not exceed one year

D A time of solitary confinement not exceeding six months if the term of imprisonment shall exceed one year but shall
not exceed three years

E None of the above

Correct Answer D

Marks 1



25 Question Description An Executive Magistrate is empowered to grant remand under Sec.167 Cr.P.C for a maximum period

A 90 days

B 60 days

C 15 days

D 7 days

E None of the above

Correct Answer D

Marks 1

26 Question Description A retracted confession

A Can be made solely the basis of conviction

B Cannot be made solely the basis of conviction under any circumstances

C Cannot be made solely the basis of conviction unless the same is corroborated

D Both (a) & (c) are incorrect

E None of the above

Correct Answer C

Marks 1



27 Question Description The distinction between culpable homicide and murder is based on:

A Exception given in Section 300 of Indian Penal code.

B Availability of direct evidence of culpable homicide.

C Intention or knowledge with respect to death

D Availability of direct evidence of murder.

E None of the above

Correct Answer A

Marks 1

28 Question Description In a summary trail of a case, on conviction the sentence of imprisonment shall not be for a term exceeding :

A Fifteen days

B One month

C Three months

D Six months

E None of the above

Correct Answer C

Marks 1



29 Question Description The objective behind the cultural and educational right guaranteed to the citizen is

A To evolve a single integrated Indian Culture

B to reserve the rich cultural heritage of India

C to help the minorities to conserver their culture

D All of the above

E None of the above

Correct Answer C

Marks 1



30 Question Description A sues B for rent. B contends that C and not A is the landlord. A fails to prove his title and the suit is dismissed. A then
sues B and C for a declaration of his title to the property. whether suit is barred?

A The second suit will be barred by res judicata

B The second suit will not be barred by res judicata

C The second suit is barred by res sub judice

D All of the above

E None of the above

Correct Answer A

Marks 1



31 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Identify the word or phrase from the passage that implies “continuous or recurring conduct of business”

A international court

B army or navy in the civilized world

C perpetual session

D carry its judgement into effect

E None of the above

Correct Answer C

Marks 1



32 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Find a phrase that means “sending shot and shell crashing through bodies of men!”

A firing bullets and lobbing grenades

B shooting arrows in the dark

C firing bullets and shooting water hoses

D bombing unarmed men

E None of the above

Correct Answer A

Marks 1



33 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description Which of the following is implied by “its” in the statement “the military force is expected to carry the its judgement
into effect”

A the government of the day

B the civilized world

C Christendom

D the international court

E None of the above

Correct Answer D

Marks 1



34 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description “The passage implies that the only task or function for the forces in a civilized world should be only

A to impeach the governments that defy the international courts

B to ensure that the court is in perpetual session

C to effectively implement the decisions of the international court

D to make sure that the rest of Christendom is disarmed

E None of the above

Correct Answer C

Marks 1



35 Comprehension Read the following passage and answer the questions given below it:-
If we wish to do with war, we must provide for the settlement of national differences by an international court. This
court should be in perpetual session; its members should be selected by the various Governments to be affected by its
decisions, and, at the command and disposal of this court, the rest of Christendom being disarmed, there should be a
military force sufficient to carry its judgement into effect. There should be no other excuse, no other business for an
army or a navy in the civilized world. No man has imagination enough to paint the agonies, the horrors, and cruelties of
war. Think of sending shot and shell crashing through the bodies of men!

Question Description “No man has imagination enough to paint the agonies, the horrors, and cruelties of war.” This sentence can be correctly
re-written as

A Every man lacks adequate imagination not to paint the agonies, the horrors, and cruelties of war.

B All men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

C Some men lack adequate imagination to paint the agonies, the horrors, and cruelties of war.

D All men do not lack the imagination enough to paint the agonies, the horrors, and cruelties of war.

E None of the above

Correct Answer B

Marks 1



36 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description In the above passage, the phrase “the republic of intellectual liberty” implies

A the rational, free-minded people

B the mind that is allowed to think freely

C democracy of the intellectuals

D people who are free thinkers

E None of the above

Correct Answer A

Marks 1

37



Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description In the statement “Courage is liberty”, the obvious figure of speech is

A personification

B simile

C synecdoche

D epigram

E None of the above

Correct Answer D

Marks 1

38



Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Hypocrisy is to ------------------ as ---------------- is to a traitor. Fill in the blanks with appropriate options given below,
so as to match the quality with the individual possessing it.

A hypocrate; traison

B hypocrite; treason

C hypocritical; traitorship

D hypo ; trait

E None of the above

Correct Answer B

Marks 1



39 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Identify the term or phrase from the passage that is used to imply kingdom or monarchy

A republic of intellectual liberty

B dungeon

C sceptre

D realm of the mind

E None of the above

Correct Answer D

Marks 1



40 Comprehension Read the following passage and answer the questions given below it:-
Through all the years those who ploughed divided with those who prayed. Wicked industry supported pious idleness,
the hut gave to the cathedral, and frightened poverty gave even its rags to buy a robe for hypocrisy.
Fear is the dungeon of the mind, and superstition is a dagger with which hypocrisy assassinates the soul. Courage is
liberty. I am in favour of absolute freedom of thought. In the realm of mind everyone is monarch; everyone is robed,
sceptre, and crowned, and everyone wears the purple of authority. I belong to the republic of intellectual liberty, and
only those are good citizens of that republic who depend upon reason and upon persuasion, and only those are traitors
who resort to brute force.

Question Description Identify from the options given below, the symbols of monarchy used in the passage

A robe, sceptre, purple, republic

B realm, robe, sceptre, crown

C robe, sceptre, crown, freedom

D realm, monarch, authority, fear

E None of the above

Correct Answer B

Marks 1



41 Question Description Who revealed the book titled "Artificial Intelligence and National Security" at Pune's Defence Literature Festival?

A General Anil Chauhan

B General Vivek Ram Chaudhari

C General Manoj Pande

D General R Hari Kumar

E None of the above

Correct Answer A

Marks 1



42 Question Description What is the Uttar Pradesh government promoting through the 'EV Upyog' Portal?

A Agriculture

B Tourism

C Healthcare

D Electric Vehicles

E None of the above

Correct Answer D

Marks 1



43 Question Description Who broke the world record for the most time spent in space?

A Gennady Padalka

B Oleg Kononenko

C Nikolai Rukavishnikov

D Vladimir Shatalov

E None of the above

Correct Answer B

Marks 1



44 Question Description Which state won the Nagesh Trophy in the Men’s National T20 Cricket Tournament for the Blind 2023-24?

A Andhra Pradesh

B Maharashtra

C Karnataka

D Tamil Nadu

E None of the above

Correct Answer C

Marks 1



45 Question Description On which date is National Black HIV/AIDS Awareness Day observed annually?

A February 1

B February 7

C February 14

D February 21

E None of the above

Correct Answer B

Marks 1

46 Question Description Who is eligible for free access to the Pertuzumab-Trastuzumab drug combination in Goa?

A Senior citizens

B Children with disabilities

C Pregnant women

D Cancer patients

E None of the above

Correct Answer D

Marks 1



47 Question Description When is World Wetlands Day celebrated globally?

A February 2

B January 15

C March 5

D April 12

E None of the above

Correct Answer A

Marks 1

48 Question Description Where is the Surajkund Mela 2024 taking place?

A Faridabad

B Jaipur

C Secunderabad

D Ahmedabad

E None of the above

Correct Answer A

Marks 1



49 Question Description Which Indian state has launched the Digital Detox Initiative for a responsible gaming environment?

A Maharashtra

B Tamil Nadu

C Karnataka

D Kerala

E None of the above

Correct Answer C

Marks 1





50 Question Description In which state did the Chief Minister inaugurate the 4th National Chilika Birds Festival?

A Uttar Pradesh

B Karnataka

C Tamil Nadu

D Odisha

E None of the above

Correct Answer D

Marks 1



51 Question Description Directions: Read the information carefully and answer the questions given below.

In a certain code language,
 

'speak nicely to all' is coded as "ka cu ma he"
'all are like us' is coded as " si fo he to"
'teach us lesson nicely' is coded as " po ma fo re"
'lesson like all humans' is coded as "he re gu si"

What would be the code for 'speak to me'?

A ma ka go

B lo ma fo

C re ma ku

D ka cu lo

E None of the above

Correct Answer D

Marks 1



52 Question Description Study the following questions carefully and choose the right answer:

Statement: Due to substantial reduction in fares by different airline services, large number of passengers so far
travelling by upper classes in trains have switched over to airline services.
 
Courses of action:
 
I. The railways should immediately reduce the fare structure of the upper classes substantially to retain its passengers.

II. The railways should reduce the capacity of upper classes in all the trains to avoid loss.

A Only I follows

B Only II follows

C Either I or II follows

D Both I and II follow

E None of the above

Correct Answer A

Marks 1



53 Question Description Rani, Supriya and Amita work on a project. If each of them is of a different efficiency. Who is the fastest worker
among them?
Statement I : Rani and Supriya take 5 days to complete the project while Supriya and Amita take 10 days to complete
the same project.
Statement II : Rani and Amita take 30/7 days to complete the project.

A If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is not sufficient
to answer the question

B If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is not sufficient
to answer the question

C If the data either in statement I alone or in statement II alone is sufficient to answer the question

D If the data in both statements I and II together are necessary to answer the question

E None of the above

Correct Answer A

Marks 1



54 Question Description Two trains are moving in the opposite direction and their speeds are in the ratio of 2: 1. If the first train crosses a
standing man in 5 sec and another train crosses the same man in 8 sec, then determine the time taken by trains to cross
each other.

A 6 sec

B 3 sec

C 5 sec

D 9 sec

E None of the above

Correct Answer A

Marks 1



55 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



56 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



57 Question Description Below question consists of three statements. Based on the first two statements, the third statement may be true, false, or
uncertain.

The hotel is two blocks east of the drugstore.
The market is one block west of the hotel.
The drugstore is west of the market.
If the first two statements are true, the third statement is

A true

B false

C uncertain

D Cannot be determined

E None of the above

Correct Answer A

Marks 1



58 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer D

Marks 1



59 Question Description Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku.
Vicky has two daughters and one son. Unni has only one son and one daughter. Micky is the only sibling of Wiku.
Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter of Akku, who is
married to Wiku. Unni and Vicky are sons in law of Wiku.
 

How is Wiku related to Donu?

A Father

B Mother

C Grandfather

D Can't be determined

E None of the above

Correct Answer D

Marks 1



60 Question Description In question below given two statements followed by two conclusions numbered I and II. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusion and
then decide which of the given conclusions logically follows from the two given statements, disregarding commonly
known facts.

Statements: Some books are tables. Some tables are mirrors.
Conclusions:
I. Some mirrors are books.
II. No book is mirror.

A Only conclusion I follows

B Only conclusion II follows

C Either I or II follows

D Neither I nor II follows

E None of the above

Correct Answer C

Marks 1



61 Question Description Study the following questions carefully and choose the right answer:

Statement : Postal rates have been increased to meet the deficit.
Assumptions :
I. The present rates are very low.
II. If the rates are not increased, the deficit cannot be met.

A if only assumption I is implicit

B if only assumption II is implicit

C if either I or II is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer B

Marks 1



62 Question Description Choose the correct alternative from the given ones that will complete the series.
AD   EI   IN   OS   ? 

A UX

B XY

C WY

D UY

E None of the above

Correct Answer A

Marks 1



63 Question Description Statement : A part from the entertainment value of television, its educational value cannot be ignored.

Assumptions :
I. People take television to be a means of entertainment only.
II. The educational value of television in not realised properly.

A if only assumption I is implicit

B if only assumption II is implicit

C if either I or II is implicit

D if both I and II are implicit

E None of the above

Correct Answer E

Marks 1



64 Question Description The age of Sitamma 10 years ago was thrice the age of Radha. 10 years hence, Sitamma’s age will be twice that of
Radha. What is the ratio of their present age?

A 7:3

B 3:1

C 2:1

D 1:4

E None of the above

Correct Answer A

Marks 1



65 Question Description

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



66 Question Description Study the following questions carefully and choose the right answer:
Statement: It is necessary to adopt suitable measures to prevent repetition of bad debts by learning from the past
experiences of mounting non-performing assets of banks.

Courses of action:
I. Before granting loan to customers their eligibility for loan should be evaluated strictly.

II. To ensure the payment of instalments of loan, the work, for which loan was granted, should be supervised minutely
on regular basis.  

A Only I follows

B Only II follows

C Either I or II follows

D Both I and II follow

E None of the above

Correct Answer D

Marks 1



67 Question Description Study the following numbers carefully and answer the questions given below:

5836   7469   8251   6293   4172
If the digits of all the numbers are to be arranged in ascending order within the number from right to left then
the numbers thus formed are to be arranged in descending order from left to right then what would be the sum
of second digit of third number from left end and third digit of fourth number from right end?

A 12

B 10

C 7

D 9

E None of the above

Correct Answer D

Marks 1



68 Question Description Annihilation: Fire :: Cataclysm : ?

A Earthquake

B Flood

C Emergency

D Steam

E None of the above

Correct Answer B

Marks 1



69 Question Description

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



70 Question Description

A 3

B 59

C 21

D 112

E None of the above

Correct Answer C

Marks 1



71 Question Description In a city, Fruit Lane was to the north-west of Jewellery Lane. Grocery lane was in the east of fruit lane which was
towards the south of vegetable lane. Toy lane was towards the south-west of grocery lane such that it was situated
towards the east of Jewellery Lane. Clothes lane was 20 km towards the north of Jewellery Lane, which was 4 times the
distance between Jewellery Lane and Toy Lane. Inner circle was the midpoint between Fruit lane and Grocery lane and
also Jewellery lane and Clothes lane.The distance between Vegetable lane and fruit lane was half of the distance
between Clothes lane and Inner circle.
Vegetable lane is in which direction with respect to the Clothes lane?

A West

B East

C South-west

D North-east

E None of the above

Correct Answer C

Marks 1



72 Question Description Which Pair does NOT belong with the others?

A 117 : 13

B 162 : 18

C 171 : 19

D 304 : 16

E None of the above

Correct Answer D

Marks 1



73 Question Description

A 5

B 6

C 8

D 9

E None of the above

Correct Answer D

Marks 1



74 Question Description Today is Monday. After 61 days, it will be:

A Wednesday

B Saturday

C Tuesday

D Thursday

E None of the above

Correct Answer B

Marks 1

75 Question Description Kindly study the following information carefully and answer the question that follows:

'B + A' means 'A is son of B'
'B x A' means 'A is father of B'
'A % B' means 'A is son-in-law of B'
'B - A' means 'A is wife of B' 
'A * B' means 'B is brother of A'
'A # B' means 'B is the only sister of A'

Which two symbols will come in place of question marks in the following equation to show that E is wife of X?

X % P – C ? D? E



A x and +

B + and -

C + and #

D Either A or C

E None of the above

Correct Answer C

Marks 1


